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you have to add the subject given in the question statement

Saher Saleem

Saher Saleem
Lacks clarity

Saher Saleem


| [ O~V @~YER —ntgid™
B use of party he became tired agd exhgusted an
- (unfpiéziofuake o pasl o teshndon® "S_

v |n5truﬂiWeaM& W CLo.«-n/V
. Marks have been allocated consideringdollowing 2”

points /&/F‘-n//la/v z/rn«ea/w(/ﬂ el B R
e A= AF‘ISW must startfrom t equestn:m statement ‘ - :

b- It sh:z: e f Ie s, single : L SRR L o
___senten( F_!FITII il Ie | »
c- Do not ald your awn opinion nIess;rr::u are asked / LY

_ for; ideas must be contextualto the passage

5 Barb{Jibe’

Scanned with CamScanner


https://v3.camscanner.com/user/download
Saher Saleem
Because of party he became tired and exhausted and unable to wake up early to execute the resolution
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Instructions to write ideal comprehension
Marks have been allocated considering following points
a- Answer must start from the question statement
b- It should be of at least 2 sentences;      single sentence answer is not permissible
c- Do not add your own opinion unless you are asked for; ideas must be contextual to the passage
d- Avoid replicating phrases from the passage; you may extract/copy words from it.
e-Give a closing end to each answer
f- Ideal length of answer is 5-7 lines. Avoid too lengthy answers
g- Also, do not begin answers or new sentence with the words, “ Yes,No, And or Because “
Meanings
Intimidating ( formidable)
2. Peril ( pitfall)
3. Repeal ( fend off )
4. Dwindle ( wane)
5. Barb (Jibe )
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